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Time : 3.00 Hours Booklet Series
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Registration Number Test Booklet Number
ite only one digit in each bo OF 0088 Soncd
L ’i:;isi;‘? eachb™)  INSTRUCTIONS ¢a0dm
(2:8%5, (106° £.8%%, ©08 Pratnsn) P IATTET
(v g L1L 36D .

1.  Copy the following on OMR sheet in the space provided.
Any one who has spent time in an organization knows that dysfunctional behaviour
abounds. Conflict is frequently avoided.

(Read these instructions carefully and understand them before you start answering
the question)
(88 ARTHeO WHEM SO, FOLOEK BN T epm OFSD THEW VSRS Sve
SoPHouED)
L P re2 L ety ML UE o2 ye st faliy
2.  Write your Registration Number on the Test Booklet.
£ 0BaS Howths B eEBES fo¢5 Frokosv.
LBy & £OUP1 A K
3. All questions are compulsory. All questions carry equal marks.
O] Hen BHODOM FOHHB. HQIIB SRtien BERTO.
A et Lt el gdileiired

4.  Atthe right hand top of this cover-page, Booklet Series is given. Enter it in the OMR
Sheet by blackening the oval.
OMR Sheets where Booklet Series is not entered will not be evaluated.

8 855 D@ P HOJD) eBBeS HED aswax0. OMR bl o «oBBeS LED sgLso o 656 S
Heng) Sohsd.
ooB8eY HBG gradd OMR iy vodgRd.

-Jﬂhﬂ,g‘ff Jud mm{ﬂ/ﬁhma’?"}u‘ LAOMR Bl £ Fb.u'{glf,fﬂ‘-f‘i“f’u&ufﬁ .{U—Gl?l

Cheék the Booklet series is the same that is printed on OMR sheet. Otherwise, inform
the invigilator.
OMR &5 s s0@ownds HED, b8 8D eder domd. Boate HEgESO8 BOOLHEBOS.

cunbzie K S L NP1 Lra i Lt auE g 0 /bl FOBP L 21 /B ink L2 OMR
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1) If DELHI can be coded as CCIDD, how would you code BOMBAY?
DELHI & CCIDD = 848 &3, BOMBAY 2 S&¢jor» So0s?
0Ly /3 BOMBAY S £ 67 2 /3/cCDDSDELHLT .

(A) AJMTVT (B) AMIXVS  (C) MIXVSU (D) WXYZAX

2) If MATHEMATICS = 12345123678, then MAHATMA =?

MATHEMATICS = 12345123678 @0»8 MAHATMA Ssog80007?
MAHATMA = ? .."MATHEMATICS = 12345123678/

/(ﬁ{ 1242312 (B) 1243221 (C) 1242321 (D) 1242131
3) Oil:Lamp::Wall:?

(A) Smooth (B) Bulb (C) Candle (D) Dark

A»d : HDo: 1 6% 1 7

(A) SHPH (B) oy (C) =088 (D) Hues

¢ tagrribag s KT
1241 (D) Frr (© o4 (B) 414 (A)

4) Find the oddman out from the following :
58 o0 S® BDODIFLRD TROD BRGHIE.

-L{LJ‘[&FLJJE?J:
(A) 324 (B) 841 (C) 529 (D) 756
5) Fill the senes.
808 FeB0 Do
LSk
DKM, FJP, HIS, JHV,
(A) 1GZ B) IGY ©1 LGY (D) HGY

CPAL 2012 (Set - A) 1
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7

8)

9)
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In the following series how many pairs of successive numbers have a difference of
2 cach?

8065 Qa0 Fiié® DY A SED0 DO S04, 8a° Job 60T

| &R E L)L s i fmd L sE
6412287421538679
(A) 3 (B) 2 () 4 D) -5

Fill the series with appropriate figure.
808 FH3D HBowid HB0S DoDHos.
..Z_-'-.’J;J?dl;.f.rié (_PU#J:"

OS] ?
(A) @ (B) | ©) @ (D)

Deepu is the brother of Bhushan. Narmada is the sister of Mahesh. Bhushan is the
son of Narmada. How Deepu is related to Narmada?

B2y, el o) SO, Hi5,65, Hoanrd) g, MG, RS, HG,E Alns), S, HE,55H
Hzy wsogymeto ?

fe :—*:g.;.u)b’.;u-c;..l.}; Klasos & _%uﬁfJJ’.."'.u}_.i-_JHKJﬁ;_;:;
(A) Brother 43) Son (C) Cousin (D) Nephew

Anusha walks 10 meters in front and 10 meters to the right. Then every time turning |
to her left she walks 5, 15 and 15 meters respectively. How far is she now from her

starting point?
@5 10 Hobdt) S0 $E, HoF, 10 Lobth b DG SEV0O. HOIS DB HoeD)
Brugrobm SEDHm 5 ot 15 bt O 15 St HEDBLOE, B LOHOBOD

ﬁl{;ﬁioéac& QOB SRGoH 4o T
f_Jlgjr.:.;hfl,%.fu.:ﬁ:ﬁﬂLw-ﬁ;Gj! L1 m/{.ulq.fﬂ SLT 108
?Jﬁgufc..rﬁ'»dlﬁ.r%.lufé.EF..A:JJ’..;/'{ 15,9115:5

(A) 15 meters (B) 10 meters (C) 20 meters (D) 5 meters

CPAL 2012 (Set - A) 2
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10) 1ind the missing tcrm in the series
208) Je3ess BTLLO (7) o YOI HBCWD HoE? HPOOWDEW.
R ICN T A N
1, 6, 13, 2, 45, 66, 91

(A) 28 (B) 27 (C) 26 (D) 25

11)  Find the missing term in the scries
8oe) Fe3s8 paarso (7)o RN HB0D Pi§B0? PROOTLED.

-éwii‘fjJ/f?"*u’:Zd

49 ,39
920 86
A 53 B) 75 a2 D) 7

12) In the [ollowing scrics, one term in the serics is wrong. Find out the wrong term.
5065 o@D FBSP 28 Do, BDO 0BHWEDO. B, CBHDED DO BROGFVED.
s s Vs i L1y o b
2, 5,10, 17, 26, 37, 50, 81

(A) 81 (B) 26 (C) 37 (D) 10

13) A, B,C, D, Iiand I are sitting in a circle. A is to the left of C, B is between D and I
and I is between D and C. Who is to the left of B?

A B, C, D, E oot I 28 Sood thiap dmmsssnd’? Entmt. A o 5,8 C & ous
98, B o 58 D sooam | ofH #6568, IF oS 5.8 D sooain C 8 e sP dmath. B 8 aasm
IO DVHRD?

e LI L EiDS 2B e oL WS CT2A G & Slo 25 LIENIE D «C B A
Ce 0 L VBT e Ll s L Caid L 21

(A) A (B)y D (C) E D)y ¢C

CPAL 2012 (Set- A) 3
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14) In the following diagram R represents Businessmen, S represents honest man and T
represents rich men. Which number will represent honest rich men?

8ot D% ‘R’ srDetiper, °S” deronddme doak ‘T’ oo Krayod.
® DO DEPAVSDHED FHH0EED Kednod) ?
JJ.'-* =T ..-ﬁ_&.t'fdljlf} L;JI.FL{ISJ:I,-:_.‘:;LFJEJ L;UCL/‘J‘RL,C fﬁé{-:ufd_'}
Ce b S s Sr il o U SERT et S50

(A) 3 (B) 2 o 4 (D) 5

15) A cube, painted yellow on all faces is cut into 27 small cubes of equal size. How
many small cubes are painted on one face only?

28 OVI0BED O SLye HKOF) BOrH B, DD 27 0 0i00e0 SIVBYD, D PoDHVVE
2t H0PHVHLD HRB Ford Gotwod?
LSS AL AL S LK AL AR SN K205 L
Y
(A) 1 (B) 12 (C) 8 (D) 6

16) Count the number of squares in the following figure.

808 DHEENS OF) LEISTee B0i) T

el S L LS

(A) 14 (B) 10 ©) 9 (D) 18

17) Count the number of triangles in the following figure.

800 HhEd® OY Bebadven S0P 7 ?pﬁ-!vﬁ«irucnfjs":éwﬁu«ti
(A) 24 (B) 20 (C) 14 (D) 18

CPAL 2012 (Set-A) 4
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18) The four different positions of a dice are given below.
Which number is on the face opposite 67

FRenID FORDISE &g w8 DS wRHOB0E.
650 XSEHR & D0 DO

Wi f P s Lbrup Ll sy e Ly L s

(A) 2 (B) 1 €) 4 (D) 3

19) Sclect the suitable figure from answers, which substitute the question mark in the
following,

806 cwdGd DERENTY HLBWS® 08 &8 HEREDD Hepy %géoi?} &3 Fgemiﬁ"‘

RODEDBERTR DiEi0s.
-é.,ti—":(dﬁ .,-«-'b*di:LT{.ngﬁiglr;bﬂJﬁid;ﬁ.{é_J

P

7 e

w (€] ®[)] o= o=

20) Find out the suitable diagrams to represent the following elements.
Potato, Vegetable, Cabbage.

fleln] m}&’.‘:ﬁ-}m DR DODER) SRR ri::goﬁ:aa‘m
eentsgen, SRGrroen, so e,
-L{fJIFrI/_L’Ii.,ab-ﬁ,LLpr’LfJfbnl'j.g;ﬁ

S ooy AT
o @D wO0
o @&

CPAL 2012 (Set - A)
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21) Which of the following is Maharatna Company?
BoLanied "BoDEEE’ B0 D07

P%Jlk'((ﬁiﬁﬂ(djfc.-g}:d‘j u
(A) NTPC (B) NMDC (C) NALCO (D) BITEL
22) Who is the Governor of Reserve Bank of India?
(A) Yaga Venugopal Reddy (B) . Bimal Jalan
(C'}y Duvvuri Subba Rao (ID) None of these
oab; 2ok 8D 0G0 (566 DB 7
(A) oam S0 56 (B) 2soSaens
}Q EDEIRO f0eRoeg) (D) S8R sthH
?Lﬁwlrfzfé:.k.;ﬂ._if..éu'{x
Wit (B) SiJ skl (A
K e Ly (D) IA-Sass (O
23) Who is the Chief Minister ol Karnataka Statc?
(A) Yediyurappa (B) Kumara Swamy
(C) Sadanand Gowda (ID) None of these
BO3E 0o SORE00G WS ?
(A) oDERoD (B) Sisnodegn
(C) D005 @96 (D) o6t» 52
crudFipnl Bt et
Sirll (B) Lgds  (A)
S ety o) e (©
24) Who is the author of the book “Five Point Someone™?
(A) Anupam Kher (B) Robin Singh
(C) Arundhati Roy (D) Chetan Bhagat
“pS Deowoel DEBE” O FSOD EHODBE DBH?
(A) o0 5 (B) oas 208
(C) ethorlicoD (D) 3885 2058
AV 20, e L " "Five Point Someone” .
Fuis (B AhH @)
= 2 (D) Ldi  (©
6

CPAL 2012 (Set - A)
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28) Sachin Tendulkar made his 100" international century in
(A) Delhi (B) Mumbai (C) Mirpur (D) Chennai

@osRAaD 88e56° HOS Botne,S B 1005 HOSED DG Beeid?
(A) &9 (B) ®wog &y &obapb (D) 38,

‘.‘Jh.;ut.fd,é'q:|MrLﬂsFJ¢qunfuruﬁ
de ® 4z © & ® & @

29) Who is the Governor of Tamilnadu?

(A) Surjit Singh Barnala (B) R.S.Gavai
(C) H.R.Bharadwaj (D) K.Rosaiah
BOOGRE 0 (5B DB
(A) BRE8VOB aozed (B) 8. a5, o
(C) anS. ub. g6 }D) 8. 6900,
c oSSl Lttty -
St 2T (B) vtsF ez, (A)
V.ol (D) L AT (©

30) Who is the Union minister of Home Affairs?
(A) P.Chidambaram (B) A.K.Antony (C) S.MKrishna (D) Kapil Sibal

S04 G5 TaP 0B DB 7
(A) b. dondo (?{ oB.eod  (C) o%H adS. g5 (D) svShend

Tq_fuf;i:d:ffz.uhufeﬂ}: .
d#locr ® (Ae-d A
FH O e/ ©

CPAL 2012 (Set - A) 8
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31) Who is the finance minister of Andhra Pradesh?
(A) Ponnala Lakshmaiah (B) A.Ramanarayana Reddy
(C) Geeta Reddy (D) D.L.Ravindra Reddy

BOEHES 00 B8 T FOG HHHOT?

(A) dame 0fpD, kB/] o). crabFRoR0E 3G

(C) fmo3g (D) &8 9oz 34

?L[tufgj@;jsﬁ.ﬁj{lfﬂdw};

SL 0t et (B) gfﬂu:;; (A)

Stz JI-$l (O Jisd (O
32) AP’s Biggest tribal festival ‘Medaram Jatara’ is held in which of the following
districts?
(A) Adilabad (B) Khammam (C) Warangal (D) Karimnagar
S0SHBSS 08Dy B HOBIS ‘DE0 @BS’ & BeRd® BtHE0DT

(A) soerend  (B) @0 ey S6osS (D) sbowitsb

?{_3;{,3@- u.té"'u/.ﬂd_'i[yu "t}@ri;lg"zl.ﬁ;df&;tﬁuﬂ syl paT sty
;ﬂ/r (D) gﬁn (C) / (B) -*[.-TLJ"‘ (A)

33) IIT Ilyderabad is located in which of the following districts?
(A) Hlydcrabad (B) Adilabad (C) Rangarcddy (D) Medak

@83 - groeend O dend® GOB7?

/(4\'} grcpend (B) es&epend (C) omdg (D) 3ok

ceEnutl’ VT 38T
S D) St © AT B AT (A

CPAL 2012 (Set - A) 9
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34) ‘Sriharikota’ 1s located in which of the following districts?

(A) Potti Sree Ramulu Nellore (B) Chittore

(C) Kurnool (D) Prakasham

‘SRosin’ O depd o ?

AA) 2o Sorsioen Bemcd (B) -8R

(C) seizen (D)’ psadfo
e Ch S LS 88"
5 (B) KA 8 A

(¥, | JiS ©
35) Who is the captain of Deccan Chargers in [PL-5?

(A) V.V.S. Laxman (B) Kumar Sangakkara

(C) Gill Christ (D) Pragnan Ohja

IPL-5 &8 c56,8 o8 3RS 25607

(A) 9.0.005. 05 M) &snE Dorsss

(C) 868 (D) D &

et oL Suf;fQJTJz;kc)”:
LKLY (B) ﬁ;ﬁl_d,-d; (A)

20Ty (D) ek ©
36) Scheme launched by AP state government to assure irrigation to lands assigned to
SC and ST's 1s

(A) Rajccv Jala Prabha (B) Ambedkar Jala Prabha
(C) Indira Jala Prabha (D) Jawaharlal Nchru Jala Prabha
SC/ST o ghedne H3E 5255 80gHBE HEHB.0 PEOHODD HEEo D HIET
(A) oeeiS moDef (B) eo@5,5 aodef
(C) oo sepas (D) assnberd Jsan a0y
e Wt S F128 LT R38 5E 6 UA BRI paT oty
we S Sl (B) wefiz (A)
uySardvsz (D) Wyfus (©

CPAL 2012 (Set - A) 10
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37) Who is the Deputy Speaker of AP State Assembly?

(A) Nadclla Manohar (B) Chakrapani
(') Vidyasagar (D) Mallu Bhatti Vikramarka

BOEHAS 035 HENS HE B HEE DD

(A) iy, s0itamb AT) S5,
(C) Db (D) soey 2 HESRG,
?ﬁgfﬁ’!@}&;ﬁ’nﬁ:{wﬁqy
Juk (®) Pkt (A)
VL ) A (©

38) According to 2011 census, what is the population of Andhra Pradesh?

{A) 8406 crores (13y 8.91 crores (C) 8.14 crores (D) 8.12crores
2011 2P S50 HSB0 BOGHDS B WOBT

/[ﬂ] 8.46 5% (B) 8.918%0 (C) 8.14 8% (D) 8.2 8%n
:dJETJJdJ{IfJTMEJ&WLJ’F:lﬁlc_‘f_mil

5/812 (D) 5/814 () 2:/891 (B) /846 (A

39) ‘Sunkesula’ project is being constructed over which of the following river?

(A) Godavari (B) Nagavali (C) Thunga Bhadra (ID) Pcnna
"R00S0e " BN D S0P 5§ wiEl)?

(A) Sioedo (B) wecwaiv (C) @oorsas (D) oaw

?4;. b"lll:g.;dﬁdu.l:(-.t-@.l{ ‘Sunkesula'
k(D) IJA_/‘& (O G1s8t (B) UJJU!( (A)

CPAL 2012 (Set - A) N
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40) The proposed Innovation University in AP is to be established in
(A) Tlydcrabad (B) Visakhapatnam (C) Warangal (D) Tirupat

HOMES “aBRS oPVHYS” SoEHBIN 05,5 IeErentHE00 ?
(A} Fresosend (I3) DEPDEO (C) & (D) 806
S b SFT UM L H 41 p 5T Tnovation University™ 50,/ % 5
g7 @ S o© A B ale @

41) The Slogan for “Census - 20117 is
(A) Lveryonc counts (B) Our census, our future

(C) Count on me (ID) None of these

2011 - axpee 85 ding, DaRGo HE?

(A) £ e8LR 88 By 0% aiear B0, 503 PO
(C) o3 880u0d (D) 5&sses>
P SRS 2000
STl ke S (B) FéLir @
u':‘?ljf-ﬁ-tﬁw’ (D) J;rgﬁ (C)

42) Who is not the member of Sri Krishna Committce?
(A) Dr. Sanjayva Baru (B) Dr.Ranbir Singh
(C)  DrRavinder Kaur (D) Dr.Abusaleh SharifT

§ 5% 5085858 0800 530 PTHDH?

(A) o DoaaD ant (B) e Gedb 2ub
(C) oo 6DHOBE 86 (D) @ waond 565
?af_gﬁf;gf;fd'fbifﬁ/t);;ufui 5
aﬁ;{:;;fij (B) ul..:_i‘.:r(ij (A)
...éf}f,h..{})'fli (D) | .ef.s;:u}-"!i (<)

CPAL 2012 (Set - A)
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43) Which of the following has reccived ‘Best film Award’ in 2011 Nandi Awards?
(A) Gangaputrulu (B) Prasthanam (C) Maryada Ramanna (D) Vedam

2011 H08 WP G HDBEOTP JOBFS VDR DO?
(A) sorgyden (B) @fpso (C) Soosysoesig @y oo
?gJ’bL.qu,ﬁpfiﬁmhugtdﬁ“ﬂmllj,sguf_-..a.” |
& (D) Wby (€ r;';':'-; ® Sx¢ W

44) Who is the present press council of India Chairman?

(A) K.R.Matthew (B) V.R.Krishna lycr
(C) Markendey Katju (D) 1L.R.Khanna
DB 2ss an SPAS PY,O DD 7

(A) B.ub. &nbin, (B) 2.5 gmond
(C) Swo,Bab 8y (D) 3nd =B par

?bgufudg.;ﬁrﬁgknJTu”fud{ ;

FTE S 0.8 (B) AL (A
I (o)) 22N (©)

45) Who is the AP cader IPS, working as the dircctor of the Special Protcction Group?

(A) Aravinda Rao (B) Swaranjit Sen

(C) Balwinder Singh (D) Durga Prasad

RS DG (25 FBFEOR 6 BoGHDS 866 IPS 8050 dBH?

(A) ®5D080% (B) #5508 DS

(C) edoib bob (D) SodRd

Tu_r:uf/-"lf.ﬂ:{ij?yi;J.EdeFQJTLh:{__.JrLfl..-.;l..ﬁgf/}li&:f:/‘}cfé?:{ﬁ! .
o =2 sy (B) ks (A
sy (D) Fozd  ©

CPAL 2012 (Set - A) 13
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Smallcst Union Territory in India 1s
(A). Lakshadwecp (B) Andaman & Nicobar
(C) Daman & Diu (D) Chandigarh
B8BTS ©8 D B0 DD oo DO?
/é O, L (B) wodams sooah D550
(C) Bosy, S0k GSS (D) Solans :
?;T_,L-;:(J&EJ{::.-,-’JL Jﬂédiffl_ﬁ Ol
AfYliz (B) el ()
285 (D) s (O
Which is the longest river of the following?
(A) The Ganges (B) Narmada (C) Knshna (D) Godavan
8o nele @08 MEDOH HO DT
(A) oS (B) »66 C) 58 (D) Ao
/ ?;i:.,;j'ufguu'-l:_.h_.-fu:iiﬁ;n
Said (D) 2L (©) ./ (B) & (A)
Which of the following is major producer of silk?

(A) Andhra Pradesh(13) Karnataka (C) ‘Tamilnadu (D) Assam
800 DBS DGR DB GBE BV o0 DE7
(A) sogHis 9}4 Eoatos _{L") émm‘mﬁf - (D)) oo
!'g.;_dﬁ;l:l,i.;ul_.jJr’f;uC.:.fgzujé:;_,l_'if:;.u
AT @ see ©  HS B Fap pET (A

Who is the biggest producer of cashewnut in India?

(A) Andhra Pradesh(3) Assam (C) Kerala (D) Karnataka
sBBH08 B8 HEom BEHD,D DoBoB oeg0 DO?

(A) sogeds (B) &®o (C) Zow (D) Soxws

T,*L_J_ﬁﬁjjé;pr:JIAE’QJLJJKKUF:ML-JL/JEJL}.’);‘T
St o 1L © T B AT A

CPAL 2012 (Set - A) 14
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50) A bag contains 20 red balls, 10 blue balls and 15 whitc balls. If a ball is drawn at
random, what is thc probability that the ball is cither red or bluc?

28 HOOH? 20 P wOoe, 10 HD poden SO0k 15 8 woBIW BoF). a8 D08 abRd)
QI BpSHD 08 DD Jee HO 208 edd, HoERDHHS DB 7
ot L1z ey 158 £ s f 108 £ & f0d Lt Se L

i £l vl L Y

| |
(A) (B) € 3 D) ¢

W | 2

3

51) The accident rate in a city is increasing by 20% of the value every year. If the total
number of accidents reported at current year is 1000, what will be the total number
of accidents aller two years?

£8 DOBBEBD 258 BSED CI0E, PR 20% DD DEHEFD. HBED HHRCRO VO,
1000 @008, B0t HOBEE BT & HISHNS® SBND SVE DR VO, DOB?
L,CLJL—:JE.#"T;{__ IWJJJ;J&E'JEPJL'L‘J'J!J/(I--‘LU-a.ﬁ'kﬂjzﬂb;J&EdeLﬂﬂquhgl
"Jﬁk‘ljlﬁﬁJ&hh

(A) 1200 (B) 1400 (C) 1404 (D) 1440

52) Sum of the two numbers is 13 and the product of them is 36. What is the difference
between two numbers?

Soth Hoge (s, BB 13 HO0K VT 36 VoS, & Fokd VoY L B0 doB?
?'fﬂj)gul_r';si.r.sucjl; ﬁBEL_,VLuF'JU:hf_ Iﬁ.irfb/:xu,ﬁ

(A) 5 (B) 4 (C) 3 (D) 2

53) A train of length 900 meters crosscs a telephone pole in 60 seconds. What is the
speed of train in kilometres per hour?

900 okt B Ko & Tev 60 VBOES? &8 BOPIS VOB T3S & Jew A, Btso

tot> 93 86 oty ?
"Jﬂ{.f-fdji;‘JJLIJ;.ILJ/J:ﬁu':;fﬁﬂffu;&_gl-?,}fWUde.a...fl
(A) 45 (B) 72 (C) 54 (D) 90

CPAL 2012 (Set - A) 15
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54) What is the value of /1681 ++/26017

V1681 ++/2601 s, Hevd D087
ed =g J V1681 + 2601
(A) 82 (B) 90 (C) 92 (D) 94

55) Penimeter of a rectangular plot is 70 meters and the ratio between length and breadth
1s 2 : 3. What is the area of plot in square metres?

£ PSP Yot G, SR80S 70 ot HOaty DY, Besew DHB 21 3 EanDS?
8 Yoo PN OY BEEE) Hoers?

I 2:3 ..,.-»'E:b/[jligulijy-’nl{_}'fT'IJJHE'._';QL}J?:/.{I

(A) 184 (B) 294 (C) 304 (D) 364

56) A can do a piece of work in 15 days and B can do it in 20 days. Both A and B
working together can finish the work in days.

08 D0 ‘A’ 03 58 15 6wedt, 83 500 ‘B’ od 58 20 Sfard’ Jabiom. & ongit SOR
o3 DO A Sieef Grg JodBH?

,_};Uﬂu,u:ZfrwanB;m-.;.rfd;[_,r:wmfrwiﬂ iq_r/")"_ﬁu; 15/ ELIA

e Ly/S
(A) 6.5 (B) 7.5 (C) 9.5 (D) 8.5
. A (i)
—_— — _—=
57) 2 Sﬁf’!
g"'lcﬁaﬁ Eamu:mi?
4 5 ¢ 7 6 3 1
fe T
129 132 135 139
(A) 120 (B) 120 (€) 140 (B) ——
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58) The average age of 24 students and their teacher is 15 years. When the teacher’s age

59)

60)

61)

is excluded, the average age decreases by one year. The age of the teacher in years
1s:

24 08 DR e SO O SIEROIE Dei0 SADIY, 15 DOBECRD. GRTROME
BOHRD DOKB0EE DFoDS® Dk DD, &8 VOHEG0 BRI, SRERLOINE BADY
DR HOSEen ?
toed L frniies /it Sunliieisfrnlunlyumboa
s pSssattd
(A) 39 (B) 40 (C) 41 (D) 42

The average of 6 numbers is 20. [f the average of first four is 25, the average of last
two numbers is :

B Do Difk 20. el areotd HoP® Bk 25 ©onHSE, D50 ot Do Dk
¢ S b€ 92 775 ;T_Zih:ff:x;l;‘ﬁ' ul..-i..ﬁ}kr:rb’:xéﬁ :

(A) 6 (B) 8 (C) 10 (D) 12

Ifa:b=2:5and b:c=6:7,finda:b:c

a:b=2:5%0awb:c=6:TeowdS a:b:c =7
ﬂ'ﬂl,f..,-«-’h'-'b’a:b:ciﬁ?b:c:ﬁ:?uin:b=1:5.ﬁ

{A) 12:35:30 (B) 12:30:35 (C) 14:30:35 (D) 12:14:35

1 1
Ifﬁ=§B and B=§C,thenA:B:C=?

A:%Bm B=—;-C s A:B:C=?

1 !
A:B:C= 1, B2gC gA=5B

(A) 2:3:12 (B) 2:3:6 ) 103010 (D) 1:2:10
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By sclling a fan for Rs. 600, a man gains 20%. The cost price of the fan is -
@8 gREORD 600 BRIV W&, P0% LI OB, &5 S TN, 535 Jo 0B 7

tEn 1S £ T e bu e 20% u“"‘._{szi/..—,.*,;,r:z?uﬁn{};”f; o
(A) Rs. 450 (B) Rs. 480 (C) Rs. 500 (D) Rs. 520

[I'a sofa sct 1s sold for Rs. 8,100 at a discount of 10%. What is the marked price?

&5 D8R 10% 050 QDD B 8,100 ERPCHODH ORL,HLONE 63 DFeh ok, HEO

o)) OB Y u: 3 .
S S ad ST e b o3 J U s 8100, K 510%2r S L)

(A) Rs. 8800 (B) Rs. 9,000 (C) Rs. 10,000 (D) Rs 10,100

Archana, Ncha and Kiran together started a business in partnership. The ratio of
their capitals is in the ratio of 3 : 5 7. If their annual profit be Rs. 30,000, what will

be Ncha's share m this profit?
28 sT DB 9T, e BoO0TD BEHe 3: 5 ; / VDS DEpeD IO, HODBOIVBFD
HED NP &3, 30,000 BONDSF i D0 LRBL VOB ?

30,0008 6+ 2 i /"r#,;_j 51T e B Dt S f il K L2 U 0 il s

vﬁﬂgﬂbfﬁuv:ﬁln"uf'; ,"-':iv_- L

(A) Rs. 10,000 (I3) Rs. 12,000 (C) Rs. 15,000 (D} Rs. 16,000

Prakash started a business investing Rs. 30.000. After 4 months, Gopal jomed him
with a capital of 40,000. At the end of the year, they make a profit of Rs. 17,000,
What will be Gopal’s share in the profit?

DS0a) 28 e MEHDD 6. 30,0008° HEoPoBR. D doew Bhaes Hiand od 5.8
539, 40,0008° RV SO, VOBBCOBH & TR . 17,000 LD HDV,
FiaRd alws, epaitin HoB 7
et fe A Lo 1,40000J0 el e €8s P ks e Ly 2 s 30000 ¥
¥l oIS L LU C s 170004F L Jb ety
(A) Rs. 7.000 (B) Rs. 7,200 (C) Rs. 7,500 (1) Rs. 8,000
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66) A and B3 nvest in a business in the ratio 4 : 5. If 10% of the total profit gocs to
charity and A’s sharc is Rs. 8,000, then total profit for the ycar is :

A soeoin B en 4 : 5 Dad & dépniie) ¢ &8 araRoey) shEododd. HODB00B) eging’
10% EPH0 S0D Bthars A @ B8 e, 8,000 engld MoaSLH0nE Ao RoDBER0BY engio
DOB? ) _
et G0 KE 4 LN G LSl fa Ay & B4:5 K L1BIsA
ot Cie My LU SEET bl P EAL 580005

(A) Rs 20,000 (B) Rs. 16,000 (C) Rs. 18,000 () Rs. 24,000

67) How much simple mterest will Rs. 3,000 carn 30 months at 9% per annum?

B3, 13,0008 9% ‘fﬁé Tt DEGEHD, 30 Fe enth é% DO 7
e P oS rrdr™ e o £ 9% 8L 2 L 30K 2 153,000
(A) Rs. 625 (B) Rs. 650 (C) Rs. 675 (D) Rs. 700

68) Al what rate of simple interest a certain suin will be doubled in 12 years?
w08 56 G085 508 Anssn 12 DoSEoes’ ad HG85 oy eHBve? (5§ S /

HoBBoIDS) )
(.;_u.:.«l.-a'.{.&dv:rf,;}‘f(,(i.lgﬁdrnf;J‘!Uﬁdbizc_h_-l.-"urd:.Jr‘&}JrF.:HL-
(A) 7+% pa (B) 81% pa (C) 6%% pa (D) 7i% pa

69)  What will be the compound interest on Rs. 20,000 afier 2 years at 15% per annum?
s, 20,0008, 15% 56 T&08F 2 HoDBoRVL B, BESE D08 ?
A nlT S parflne o> Lorl 7200 15% K& 1,20000
(A) Rs. 6,150 (B) Rs. 6,250 (C') Rs. 6,350 (D) Rs. 6,450

70) 3 men or 5 women can do a work in 12 days. How long will 6 men and 5 women
take o limish the work?

ot DD EEpen S DENDHE Heo B8 HDR 12 Swed’ SoHEDAD, 6 Fod Phipen HOnDo
5 B00B Hew SR & BV OR O'add Sabren?
e L g SIS E S S SIS L #5006 T TN e SV BT

(A) 10 days (B) 8 days (C) 6days (D) 4 days
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71) A man covers half of his journey at 8 kin/hr and the remaining half at 12 km/hr. His
averape speed 1s ¢

@8 53 D150 iR 8 8 /tok Si508%5m O DABD D0 tiRoey 12 80 /150 o
DHATREO BRDLHODE, B VOO 50 D087

JL.-”;ILL’-T/rd‘;c..)DJjﬁ&ﬁﬁfl?,ﬁbﬂ”!;;fﬁ;&ﬂé}ffgfuﬁwuﬁ‘_’E"l

?Jﬁy’;l} skl
(A) 9% km/hr (B) 10 kmv/hr (C) 10% km/hr (D) 9% km/hr
72) [liach side of an cquilateral triangle measures 12 cm. Its arca 1s :
28 pdgeeRE Bzban (IS, 2080 MED 12 H0.£ B0’ & Bzha FTWED V08 ?

I n K L u s L
(A) 16+/3 cm? (B) 183 e’ (C) 3643 cm? (D) 72 e’

73) How many bricks will be nceded to construct a wall 6 m long, 3 m high and 12 cm
broad, il cach brick mecasures 18 cm X 12 cm X 6 cm?

18 w080 X 12 20.80 X 6 208 DODRGO (0 O RSes® 6 Hodg G, 3 BotF 08
Booaty 12 vot Hobl dEe (0 HIED BQHY?

._'.J.i.ﬁ‘-f_ ﬁjfxﬁmlzﬂ}fdb: IZJF}:;JJI,HBJE’ si-ﬁﬁdHJ&aﬂ./fd’leél

- 18cmx12cmx6cm '

(A) 1067 (B) 1667 (C) 1333 (D) 1567

74) January 28, 2012 was saturday. What day of the week will be on January 28, 20147

28 BRSO, 2012 FRDE0 WOVHT 23 250, 2014 H SRUHD SHEO0D T
¥yl 0146552 28567 _1F K 25 20125 452 28

(A) Monday (B) Tucsday (C) Sunday (D) Wednesday
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For questions 75 - 78, choose the closest meaning of the given words.

75) Agony

(A) Collect (3) Care
76) Govern

(A) amplfy (B) rule
77) Obstacle

(A) penalty (B) revenge
78) Magnitude

(A) attitude (B) logic

For questions 79 - 82, choose the opposite word for the given words.

79) Brave

(A) worse (B) alrvaid

80) Domestic

{A) lorcign (B) problem
81) Gulty

(A)  punishment (B) encmy

82) Voluntary

(A} powerlul (B) gentle

(C) Mad (D) Pain

(C) catclh (ID) stablc
(C) crime (D) barner
(C) size (D) progress
(C)  destroy (D) clean
(C) comfort (D) fear

(C) ignore (D) innocent
(C) compulsory (D) poor

For questions 83 - 85, choose the correctly spelt word among the options.

83) (A) PRESUMPTION
(C) PRESSUMPTION

84) (A) TETOTLAR
(C) TEETOTLAR

85) (A) REPERCASSION
(C) REPARCUSSION

CPAL 2012 (Set - A)

(B) PRESUMTION
(D) PRESUMPSION

(B) TEETOTALLER
(D) TFTOTLLER

(B) REPERCASSON
(D) REPERCUSSION
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For questions 86 - 88, Select the word which closely fits each sentence.

86) A speech delivered without any previous preparation.
(A) Maiden (B) Novel (C) Extempore (D) Obsolescent

87) A tank where fish or water plants arc kept.
(A) Awiary (B) Acquarium  (C) "~ Nursery (D) Apiary

88) Signaturc of somcone else without his/her permission or counter feiting of a
document.
(A) Forgery (3)  Perjury (C) Ilmpersonation (D) Perdition

For questions 89 - 91, choose the most effective word to fill in the blank to make the
sentence meaningfully complete.

89) ‘lo avoid pitfalls, thereisanced for  planning of the project
(A) dehiberate (B}  convemiemt  (C) temporary (D) systematic
90) What appears to be a small error in the beginning may tumouttobea _ in
the long run.
(A) decbacle (I3) blunder (C) incident (D) slip
91) 'To substantiate s arguments, he several references.
(A) cited (B) anounced (C) declared (D) averted

For questions 92 - 94, read the following passage carcfully and answer the questions
given below it.

It is your duty to train and develop your mind and acquire knowledge, as much
knowledge as you possibly can obtain. Knowledge is like a deep well, fed by perennial
springs, and your mind is the little bucket that you drop into it; you will get as much
as you can assimilate. The brain which is the physical organ of the mind, is one of the
two precious products of the acons of Evolution : the other is the imponderable “social
instinct”. This wonderful Brain, whose every convolution represents millions of years
of tume, really distinguishes you [rom the amimals.
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~92) What is our duty in order to be free and happy?
(A) To digest knowledge (B) To assimilate food

(C)y “To train and develop our mind (D) To make our selves cultured

93) Mind has been compared to

(A) Adeepsea (B) Adeepwell (C) A perennial spring (D) A bucket

94) What is one of the two precious products of the acons of evolution?

(A) Man (B) Repules (C) THuman brain (D) Mammals

95) Which mirror is used as a rear view mirror in vehicles?

(A) Concave (B) Plane

(Cy Convex (D) Concave and convex
SPDRSEDOB HiE H0G HE ERTEO BREL0 S SHOIRBOS Bn H 7
1A) Densets SmsD (B) w080 56msn

(C) sooepsed G0mED (D) Dersed svooin Srogpsed S

?..:_-.t'lf_[.fdb“!,;.ul’ﬁ.é;’.fdféuﬁug}b'ﬁufuf
—af e (D) o~ (O ;55' (B) A (A

96) Unit of energy in the MKS system is

(A) Joul (B) Volt (C) ELrg (D) Ohm
MKS 5e586° 588 Hinnsn D07
/m} % (B) &ep (C) am (D) &b

ceergfded LB MKs
i D) sl © e (B J2 (A
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Sound travels faster in
(A) Gases (B) Liquds (C) Vaccum (D)  Solids
G50 B (howe Stsdum Hodedowi T
(A) Dok B (B) &% Darifo (C) i (D) 5o dergo
- w8 T
vF @ % © Jb ® ud @

If water is heated from 0°C to 10°C, its volume ;
(A) Incrcasc (3) Deccrease
(C) First decreascs, then increases (D) First increases, then decreases

H830 0" poddio Mos 10° Josfdh 38 Sdth DosiRmods derodl SNt athirDBoL ?
(A) s (B) sigmos

(C) swothd 88 BHTRS DLHHOD (D) swo 0hH BERE BrHEON

AU telr S 1°cro’e S0
< B ey (A)
x;_b’f,éum-xé;; (D) .;_.:-x,{cf"é;; (©)

The flying of birds is a proof of Newton’s
(A) [irst law (B) second law
(C) both first and sccond law (D) third law

Dgren ISP Ktid aBE, D DadiEo adoh GRaT
(A) 368 Dadsvo (B) Bo&s Habivo
(C) 2ootied svooty Sods dabavo (D) Sords DabHaoo
et LIS R gl Ui g
Uriyss (B) Jriy A

Jren A (D) Ui et udn (O
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100) Which of the following battles brought an end to the Vijay Nagar Empirc?

(A) Battle of Talikota (3) Battle of Panipat
(C) Battle ol Mysore (D) Battle of Vellore
o ning;cimaﬁ DeADHES DFioeaEn SOBOODHN?
(A) e;-g,,sﬁm axdogio (B) anddey axtogio
(C) goreb atngio (D) Semb otugio
tin2ebed e Fos & b Lt it
Ldedy ® U VAT SV

Lt ) Lt ©
101) Satavahana dynasty was founded by |
(A) llala (B) Yagnasn (C) Srimukha (D) Satakarm
REENEINR) HOUTY WD rbg%m-mtb?
(A) S (B) odad (C) Sz (D) w5
S LU #
3/ (D) Urdy (© dt B) By (A)

102) The dominant Religion in Kakatiyas period
(A} Buddism {13)  Visnavism (C) Jainism (1D) Sarvism

saBotng seeod® D o 8RS0 G007
(A) e soiso (13) Bgs doso (C) g oo (D) @080
WK i Y
rZ—‘J'f (D) I’ch}f {C) r'.:u'-i; (B) (iles (A
103) Who authored “Kumara Sambhavam™!
(A) Nannaya (3) Nannechoda  (C) ‘Tikkanna (1) Allasani Peddana
“Edamed Rogidio O gwowodad?

(A) Sgon, (B) oo (C) 8% (1) o b5

?L.Eulf_i;"ﬁ "Kumara Sambhavam”
bl Ul (D) B (© BEL B) Lt (A)
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104) Whose writings were translated in to nglish by C.P.Brown?
(A) Vemana (13) Nannaya (C) Yerrana (D) Pothana
0.2, 220 DHO BSHORD SO0 BRDOOWIED?
(A) S0 (B) &xo0 (C) 255 (D) &8s

?y’_;f}uid:;/ﬁifu:g;JEI(L(Z.P.BHMH

By O btz (© Bt (B O (A)

105) Srikrishna Devaraya’s court of pocts was known as
(A) Vyaya vilasam (B) Sarvobhisham
(C) Bhuvana Vijayam (ID) Mutyala Saralu

8 55 GHosobY B8O HH?

(A) DaoHDeRDO (B) o630

(C), g065x daxabHo (1) Sooesee doeen
wrefleuda 2Ll inyg et S§ .

(.':‘1/' (B) (ka2 (A)
JBEy (D) AathsA (O

106) Which Qutub Shahi king was known as Tana Shah?

(A) Abdullah Qutub Shah (13) Ibrahim Qutub Shah

(C)  Kul Qutub Shah (D) Abdul Ilasan Qutub Shah
‘@a0sp Mo Devdae HEdaple ooy DB 7

(A)  wapep ol (B) airo Hisd ap

(C)  =d e ap (D) wepd Hedd ap

TEEL i S EE B U e el te

st igl (B) LB (A)
-/ - §
BB 1 (D) Lo (©
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107) The first Capital of Bahumani empire?

(A) Beedar (B) Gulbarga (C) Beezapur (D) Belgaum

DO oo, §D 2D DO?

(A) B (B) oo (C) deniopd (D) Bepo
LS =T ik Kt 5

e ) e ©  SE B e W)
108) Who is known as “Andhra Kavita Pitamahudu™?
(A) Srinathudu (B) Nannaya (C) Allasani Peddana (D) Tikkana
"soEDuw Lepdipni 0F HtBH08 sath?
(A) Sroegotd (B) SoD (C) woedgs (D) 85®
¢ttt e L "AndhraKavita Pitamahudu”
of D)  tadll (© Bt B SSs (A

109) First mention of the word ‘Andhra’ was made in

(A) Shunya Saptashati (B) Brihatkatha
() Gatha Saptashat (D) Aitarcya Brahmanam
B0ER HOoD e HABH OIS GBI T
(A)  aid, O 6D (B) xynsgs
M) e 8 9B (D) 28800 aeERH0
WUl & e s JUF 18" Andhra” 52
W etz (B) Jiﬁtfg;- (A)
Faslsk) (D) e ©
110) “The battle of Palnadu™ happend at
(A) Karampudi (B) Karamchedu (C) Pedavegi (ID) Addanki
“Dene abogo” ands HAFo
(A) seogps }Bj/ S0 BE (C) 2538 (D) egod
tdn ool bdsset”

7 (D Suig © slark B Sgef W
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111) Who is credited for introducing Sitar in India?
(A) Syed Alikhan (B) Amir Khusrau
(C) Abdul Iazal (D) Naseeruddin Khusrau

RERGRD 8RG8 E0S DBH DIV BHEBE08 7
(A) D006 odand (B) &6 gopm

(C) oS as (D) DS awpm

Ce F oL FHS S S (Sitan e UL s 5
Sl o e © Sk B e @)

112) “Intcrnational Flowers Festival” in India is celebrated at
(A) Sikkim (B) Assam (C) Meghalaya (D) Karnataka

2RBBET0S @oéomaéo:b DAEBTOY DS BT ?

(A) 28 (B) oo (C) Fogmood (D) ot

‘.’Q_fgl‘/{,‘G'AU/U:U(?)M-"UJKU)’;{JI;U!cj.’”
S D JE (© lo® Fow

113) The first silent movie directed by Dadasahcb Phalke is
(A) Alam Ara (B) Kisan kanya
(') Raja Harischandra (D) Mohini Bhasmasur

DowRRa0ES &, BRI B0ese3 Bod HBO HBLHE?
(A) @00 ®oe (B)  3and 83
(CF oo SROHOE (D) S8 g8

hi;b’:.;qa’.(ﬁjﬂ;& uxélggr?bbl:

W ®) RV PTRTN
1l F (D) R R ppls ()
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114) Who wrote “Diddubatu™?

(A) Gudipati Venkata Chalam (B) Rayaprolu Subba Rao
(C) Kandukuri Veereshalingam (D) Gurajada Appa Rao
“Desentn” S GS0NE DB ?
(A) th&are Soder S0 (B) orabaien doenoes)
(C) Sothdre HIotio (D) DS waR0R)
¢t o i~ £ "Diddubatu”
Sldiglls  (B) Aukduss @)

iuylil._r.i; (D) "J""'L?-I_;:Lf.sflﬁ;( (C)

115) Who authored “Koonalamma Padalu™?

(A) Vetun (B) Arudra (C) Atreya (D) Kosaraju
“Endos), Hrren” G508 DS 7
(A) Jeowo (B) ®g (C) wdan (D) &%ceey

St o dets & L " KoonalammaPadalu
2 (D) LT (© T (B) Gu%r (A

116) Who authored “Mahaprasthanam”?
(A) Gunturu Seshendra Sharma (B) Rallapalli Ananta Krishna Sharma
(C) SriSn (D) Devulapalli Krishna Sastri

“5088 HRHO” H EHOVOTBD?

(A) thotanth 308 Y, (B) orgfp @mosE) ¥,
C) 88 (D) Boosg =y
' u;" wiar L "Mahaprasthanam "
L}b!fuﬂdﬂu (B) L}Jm&‘uﬁf (A)
el O S8, ©
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117) ‘Vandemataram’ was first Published in
(A) Anand Math (B) Geetanjah (C) Harijan (D) Kesar

“SOBHERBE0’ B DOLHSS HLHOBF0D?
(A) sHodE @/ Bepond (C) zroad (D) Soe
Tlgdl&-ug’%aw"rﬂ.@lﬁju
sA o dr © @ 24T @

118) Where did Quit India Movement Started?

(A) Kolkata (B) Delhi (C) Wardha (D) Bombay
‘B85 moBoin’ BEF00 DS BozFHoD?
(A) Sesm (B) &8 (C) S (D) ePoeran

?Jﬂbj}@ ut.f"-f;::ﬁﬁub o
&F o bt © do ® A @)

119) When did “Jallianwala Bagh Massacre” happen?
‘BDAHS sperend’ HRGHpm0S DD 800087
?lxcfu._f”rkyf,l,uuuw a

(A) 1918 By 1919 (C) 1920 (D) 1921

120) Where did Mangal Pandey’s attack happen in 18577

(A) Delhi (B) Meerut (C) Barrakpore (D) Kanpur
185768 Hoot5eS ol BDHERLD JEHE a0H0T
(A) &9 (B) &oueS (C) euBgRE (D) =&mb

Sy 2 g 2L 21857
MK @ S © Sz B b (W)
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121) Who was the first Viceroy of India?
(A) Lord Lawrence (B) Lord Elgin (C) Lord Ripon (D) Lord Canning

QROBBERY BookB5es Ppow DD ?
(A) erb erBq (B) enb 285 (C) erb oD (D) end s2ob
?Gu:(é..l,juu;ﬁﬁ’ujl."f:ﬁ |
c)J"(LII (D) ¢FM (O (ﬁh’JU (B) QJJULIJ (A)

122) When did “Gandhi” return from South Africa?
“R08)” (5§rRE 06 REBBEIVE dD,E BB SRt ?
P TSl ssme 3 )Td2 S 280

_AK) 1915 (B) 1916 (C) 1917 (D) 1918

123) Bhagat Singh, Rajguru and Sukhdev were hanged in the year
G5B 0B, C2lHIED, PSen DD, dodadamm?

?Ls(dfdjlfdb‘dffba;uhffplﬂaﬂcﬁ
(A) 1930 (B) 1931 (C) 1932 (D) 1933

124) Who founded ‘Krishna Patrika’?

(A) Garimclla Satyanarayana (B) Tripuraneni Ramaswamy Choudary
(C) Konda Venkatappiah (ID) Parvataneni Veeraiah Choudary
Gk H35” D RHOOBBHD?

(A) toshy v8 oo (B) 8530 cranidego oo

(C) &Rome Sostadon; (D) 265830 Hoax, s

rrufdL L “gae S
Sz8rEngs (B Ete-weS (A
§ 22k &by (D) Wankd ()
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125) Who translated “Veyyi Padagalu” to Hindi as “Sahasra phan™?

(A) P.V.Narasimha Rao (B) Dasharadhi
(C)  Alwaru Swamy (D) Burugula Ramakrishna Rao

“Bow BB D 108 BRSO “HIRHHE” 0o SR TBBH 7

(A) 2D, SBROTIC) (B) wrats®
(C) oo g (D) . anthe ocesog)apoes)
Wi e ¢t L "SuhastaPhan” 2 7§ #§" Veyyi Padagalu”
Sl (B) S 7o80-d (A
s Sl s (D) Sirath (O

126) Who authored *Visalandhralo Prajarajyam™?
(A) Kambhampati Satyanarayana (B) ‘larimcla Nagireddy

(C) lakkaraju Basavaiah (D) Puchalapalli Sundaraiah
‘Dot Depoero’ o oKD ?

(A) Boefoare] D8 meo0DEE (B) #osve 304

(C) o800 nosaD, (D) 0D wotssan,

1‘@:})’ = £ "Vishalandhralo Prajarajyam”

St ®  EutalieesS ()

wardley O Ur2 (O
127) Who authored telugu novel “Malapalli™?
(A) Kasinadhum Nageswara Rao (B) Kattamanchi Ramalinga Reddy
(C) Unnava Laxminarayana (D) Nyapati Subba Rao
“aneDd"” 8R 8enth HHOV GDHODH aRdd?
(A) s8apEod apid,Bom (B) 8&iod oeapdoRdy
(C) &5 08 peoeabes (D) a8 enced
¢t U e i1 JstF  Malapalli®
L;,;_,,siru,{ur (B) 'jl_au;‘-ftd.:t{;‘( (A)
-G (D) Etdnes (©
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128) Who established “Andhra Saraswata Parishat™?
(A) Kundurti Anjancyulu (B) Suravaram Pratap Reddy
(C)  Ramanada Tcertha (D) Devulapalli Ramanuja Rao

B0 DOR,S DONS T D VEPTID HBHD?

(A)  Bothg soadaiven ‘LHT ROBSE0 HEeHds
(C) {)ﬂmuﬁ@g (D) SHen cesnaces)
WFE LS Rt paT
Stoityposlir (B) 3. (A
18408 (D) Fpzw (©

129) Where did (irst salt satyagraha started in Andhra?
(A) Visakhapatnam (13) Machilipatnam (C) Bapatla (D) Kakinada
BOGST (3, DERLIIR0 BHFNEE D NSOPFHOO T
{A) 83 9O (13) a‘uﬂ)éa’:éﬁu (C)— emddiy (D) se8aeis
tdnls fUN & e s /Sl 14T
snfy o e © A e AVe »

13) Who s known as "Andhra Ratna™?
(A) Duggirala Gopalakrishnaiah (3) Kasinadhuni Nageswara Rao
(C) Tangutur Prakasham (I2) Rayaprolu Subba Rao

E*su\r:‘jd% 198 WO DS St ?

_A)  tofiose SSdegEob, (B) sadnegon migson
(C)  Lorbbms D0 (D) ocrodben Hoenoe)
febbtbaptldApil
s, 20 Y B ST LIIN STRNON
S-Sty (D) FE80F  ©
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131) Soda watcr contawns :

(A) Carbonic acid (13) Nitrous acid

(C) Carboxylic acid (D) Sulphuric acid

e H%H 30D B0A dotor?

(A) ©20208 waiain (B) D&% esvsn

(C) 5202805 esaipain (1) Do 26 edpsn

F e iy

2i 5L (B) A2 B (A)
27083 (D) L7040 ()

132) Which chemical is added to water supply for the prevention of tooth decay?
(A) Chloride (3) Fluoride (C) Bromide (1)) Sulphide

BOBEORS) DRDOSEDE HE HEDH0S? D FeaLTEY Seuywth?
(A) &38& (B) 290& (C) & (D) »gk

&I%J?UFJ@'ESLA{J;J&')JJ!;EFL['L;..Jfl.id/d|ji_;u?:|ﬁ
EE D) KLz (O ¥uF B 215 (A)

133) Stainlcss stcel is an alloy of

(A) Iron and nickel (B3) Iron,chromium and nickel
(C) TIron, chromium and 7inc (D) lron and mangancse
008 88 Heo 3D clws, MoFsrsn

(A) 268 Sooain H3S (B) @68, §'anano oot D34
(C) 268, Sianano svoain 8ok (D) 2658 svooh Srotsdido

t e A Li(Stainless Steel)s U "
Foafs 4 B Fod @A)
;’-G'JJI;,J’ (D) n.-.r-"‘:uf(fj/r;!:r (C)
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134) The acid generally stored in batteries 1s:

(A)Y Sulphuric acid
(C)  Tiydrochloric acid

en oo FrRsHorm Denid God BEHL D7

(A) Pon 05 e

(C) 3nE98505 ey

135) Pollution is not causcd by the usc of?
(A) Wood (B} Solar energy
Ho0KEDIHD B3 B0l aeeld® DR SL ST

(A) se (B) o5/

136) Tuberculosis 1s a discase caused by

(A) Virus (B)

"t mBEIHR &8 B0 DD HLH 7

(A) o (B) Fed@an
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Nitric acid

Acetic acid

455 s

D035 esEnain

s e Bbds 2 iiig it e UL

(B) ML (A
(D) S8z (©
Petroleum (D) Coal
2eFFoono (D) ePep

:bﬂuﬁ"#E’Jn’TJb-"J&'Jl
OdwisT ® ¢f  »

Malnutrition (D) Bacteria

Dgeeans oo (D) enfooin

e 2186l Oy

(©) 15dsy  (B) U (A
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137) ORS, which is used for the treatment of Diarrhea stands for
soboatn D 8R0SE0 536D ma menod® ‘ORS’ 2 8d00ws08,
(A) Oral Rehydration Solution (B) Oral Recharging Solution

(C) Oral Replenishing Solution (D) Oral Reducing Solution
P K b UL Lk £ JL-120RS

S Recharging 3tJ  (B)  (FRehydration 17 (A)
SV @ S Replenishing 3L (€)
138) Parkinson’s discasc is associated with
(A) Heart (B) Liver (C) Kidney (D) Brain
0,508 Tk B08% Howoio 5OB Got?
(A) thod (B) sedopaw (C) somsbomeen (D) oo
:i:'_t'lf't_rrn-ﬂ"'.",d-}&_';tfu’-f&
b o S © F o®m b w

139) Widal test is used lor the detection of

(A) Malaria (B) Typhoid (C) Tuberculosis (D)  Yellow fever
800 =0636° DD DROOBEO I 'PES” DO B3H?
(A) odoate (B) &apont (C) Lan@BEIMH (D) D5 2B

P PV U B2 KS e o e Widal
Mk DT EE @ 2wt B LA W

140) Which of the following glands in the human body is popularly called “Adam’s

Apple’?

(A) Liver (B) Adecrnal (C) Thyrod (D) Thymus
005 FHB0S* D Hof) et abd "me AN

(A) =e8answ (B) o2gs (C) Poronk (D) &m0

:.‘L.t'ffif(:.uﬁ"d_;lf‘rf"{JJB(E!(!:.;(,/}E!‘U':"{\};;’
s oeLde © Jao® £ ow
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141) Out break of Jaundice is due to

(A) Noisc pollution (B) Water pollution
(C)y Soil pollution (D) Air pollution
s2ay &) B HOD DOBIOL?
(A) o spengEn (B‘r De3 sre0dHn
(C)  d0ef spend@En (D) 0o speng)n
' :s;'_.(_?"/'ﬁ._uJi_:fuﬁ';
J.U,TL}T (B) J:.JTJ;F _{J'ﬁ.j
$o1ds ) S8 . ©
142) Sceds can be best preserved in
(A) Cool and dry condition (B) Cool and wet condition
(C) Mot and dry condition (D) Hot and wet condition
DBEIHNOT DRt YOS anrP FEOEH?
AR) cSere Hoaty oo é}@l?ga@ﬁ (B) <Sgoe oo asom é&ﬁ?gaeﬁs
(C) B&oe Sooatn MéEoe éeg".gae‘ﬁ (D) B&oe oot 8o é@:’gmﬁ
(g LS5 LS UF
Sl sIgs  (B) o Boagsd (A)
el e O e BoaeS  (©

143) The total number of human car bones are
F005E)0 B &8 ABHL VOF DOBT
| VR A PN I8
(A) 2 (B) 8 (C) 6 £D) 4
144) Lixcessive intake of polished rice causes deficiency of:

DR RS DTN, DKM BYRONS D HLIAS S DO 7

!J.ﬂ'JJJ#:JQ;L.L;JWHJEJJ:&ry.'lbfuvg

(A) Vitamin A gB] Vitamin B (C) Vitamin D (D) Vitamin K
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145) Iluman blood has the highest percentage of

(A) eosinophils (B) basophils (C) neutrophils (D) monocytes

ai0E SEOS® D Tas0d D HD0?

(A) =SB (B) end6de (C) mneie (D) 3ndPpey
e wtBnskia wr SO

Hlir O UEE © JE= ®) U !

146) The oxygen content of atmosphere is about
PIBERING® BB FB0 HOBT e S F T LIS

(A) 18% (B) 72% (C) 11% (D) 21%

147) Mercury is emitted in to air by

(A) Burning Coal (B) Steam engine
(C) Burning garbage (D) None of these
DS D5BHED TR S BSegniEod ?
(A) PR seeio Sod (B) ©00 aocaed myo?
(C) 380 seo Ses (D) Shecd
: e;J&.ﬁEnﬁuEuﬂlﬂ
J*"b}f-! (B) te LS (A)
Sty O teisd (©

148) A fertile soil is likely to have a pH value of
DEDOBRH o alos, B.anS (pH) Hensd o6 7

-iﬂ-aﬁ;ﬁd&&]}ﬂuﬁfﬁ"!i
(A) 3-4 (B) 8-9 (C) 10-11 A0) 6-7
149) The Larth Day is celebrated on
‘D8 @ D O amHYHoeRanT ' e bbb
(A) 22% April (B) 5" June . (C) 8" October (D) 12" July

38
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150) Cow dung is an important source of which one of the following green house gas?
B8 D6 0B S08 HSTPH spatu DO 7
: .;‘-.._g;ir?r._{!b’u'fg_rﬂ,o_rfum)_5.;;#;£fo.";5’

(A) CO, (B) Cli, (C) CO (D) N,O

151) Centre for Cellular and Molecular Biology (CCMB) is located in
"ol H6 pen b 80k HndH 0 paired’ D5 God7?
: {-élrfffb/”d.ijl_a) z‘QJ"JJIJ‘lAfJE}Sﬂ”

(A) Chennai (B) Delli (C) Mumbai (D) Hyderabad

152) Which gas is associated with Bhopal tragedy?

(A) Methyl isocynate (B) Methyl cymde
(C) Mecthyl cynate (D) None of these
S DAPEOB FnEHE & TOLXY HOT
AN)  £odd pRFES (B) &ogd pi&
(C) £03S paes (D) S&=chH
| t el e st
w L (B) s A ER (A
F et A S (O

153) I'hc material used 1n transistors is

(A) Platinum (B) Silicon (C) Copper (D) Nickel
eppbed m:d Dueginn HO?
(A) eedso (B) »dspa (C) =006 (D) o8d

T Py gV
F ot © vk ® S A
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154) Which of the following is not a digestive enzyme in the human system?

(A) Pepsin (B) Ptyalin (C) Gastrin (D) Trypsin
i B 854 HBPSF, ARDE DoWoIodR o DOT
(A) 2S5 (B) a&» 03 (C) =fs (D) &85

: rmcfu,wu:rmd";ufc_;mzs.;mucrw&m
Ao o P ® oF @

155) Optical fibers used in communication are developed based on the phenomenon of

(A) Refraction of light (B) Daffraction of light

(C) Interference of light (D) Total Internal reflection of light
5880 HIPS® 70E8 8PS P H Db HeBo H SR ?

(A) =pod Sfesso (B) =08 o55550

(C) =008 58586050 (D) Dozpy ®obs 5208 HovsgHED

: LE%JIJE{JHJﬁI?;ﬁU;dJdﬁdﬁ"’l@.&ﬂﬂf

dyf/i-’jc‘:tfu (B) n.jl.bjid:{fu (A)
U'EPJJ‘JJ”JJL:;.JJ (D) -:JP'I.&J(?JJ (C)
156) The 2012 BRICS summit was held in
(A) New Delhi (B) Moscow (C) Beijing (D) Cape Town
BRICS - 2012 55738450 088 808087
(A) Dng&d (B) 55038, (C) e85 (D) 85eRS

: § =y F ¢ BRICS 2012
Uited @ E ©  FLo® & @

157) 19" ASEAN summit was held in 2011 in

(A) Manila (B) Singapore (C) Bali (D) Bangkok
201168° 195 ASEAN 0508850 08,6 a0dod 7

(A) soder (B) Rotsaps (C) emd® (D) enpo=E

1 o Ul £ 20110 J FASEANY 5 19
JE D d© g B B (A
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158) Who won Ramon Magsaysay award in the year 2011 from India?

(A) Manmohan Singh (B) Sonia Gandhi
(C') Narayana Murthy (D) Nilcema Mishra
ER65 B0 008 2011 DOSEGHOS® CoEdS BT BTCY FoB DHCH?
(A) Soddmanrag wob (B) Doi» mod
(C) ~rorobe SR (D) 5057 Do
Y-S MLV VI V= UL
SLifty (B Foi A
UK (D) Qurgfist (©

159) United States of America Presidential Election of 2012 will be held in the month of
2012 BFHOD B HYSew D Bedd atihHEeon?

: i.:rﬁﬁ:‘utfal.uf..,.lf-'lazly.ﬁ.zﬂlzud.gﬂ,f(tir
(A) October (B) November (C) July (D) December

160) As per “Transparency International’ ratings of 2011, which is the least corrupt country
in the world?

(A) Newzealand (B) Finland (C) Denmark (D) Bhutan
90802800 ROBEES’ - 2011 BeB0tHO PO HHOB RAHOP B B ©0BHT0G Biana) ?
(A) @nMerch (B) Bapok (C) @=5, (D) emerd

:%Uf..ﬂ:h*.;f{c.gﬁ'g:uﬂ.ﬁ;Jlfﬂlu,é;f.;..jui
gt D) S (© Wy @ HSiE A

161) Who is the Union Health and Family Minister?

(A) Kamal Nath (B) Ambika soni
(C'y Ghulam Nabi Azad (D) None of these
S0t w63 5008 dHDT
(A) Ssodaeb (B) ®o@ize D
A6} Dero D smb (D) ostnesd
cpud P ket )
Jré_yn (B) Jt‘f (A)
S ey D WTE e (©
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162) Who 1s the Deputy Speaker of Lok Sabha?

(A) Vivek Kumar .f"\gr‘Iihmri (B) Rahman Khan
(") Karia Munda (D) None of thesc
PEDES Bl DEE D57
(A) DHE DH50E 0fdg (B) 658 and

. Q) =000 swos (D) 58R b

?u_'?uf/?uj;iﬁfufﬂ ,
weylrs, (B) drn quwg{fj (A)
Lty O et S (O

163) As per provisional census - 2011, what is the literacy rate in India?
2011, Bangn 85,0 (G025 YOEIR) HHGO FREBBIOS BFEONIB FBO OB 7
VL ASE 213 Lo s b L /51 £ 2011

(A) 64% (B) 82% (C) 53% AT 74%

164) Who is the *Gnanpith Awardce’ from the following?

(A) C.Narayana Reddy (B) K.Shiva Reddy

(C) Ravva Srihan (D) Betavolu Ramabrahmam

Boanod’ apid HE BTG Fnd HDE7?

A A) R meoeahe 86 (B) 8 32008
(C) oar, famo (D) 850 cedvpEn,o
Wi “Sapaol IS et U
ia L (B Shofrioy (A
At (D) Sad by (©)
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165) Rajiv Gandhi Khel Ratna Award-2011was awarded to
(A)  Sushil Kohli (B) Gagan Narang
(C) Sachin Tendulkar (D) V.V.S. Laxman

2011 HoSBE0S ceelSRod) P& 651§ ward) {5AR8 DK 7
(A) 086 5%p {B) 65655 w508
(C) 205 Sodre,s (D) 28000 ogf
2 i“’!;fg/ﬁ';l{]g};d:'.{(joﬁ Ezi0t2011JL

S ® AREr w
SRt ) Sk ©

166) Who was the cricket coach for India in world cup - 2011
{A) Greg Chappell (B) Gary Kirsten  (C) John Wright (D)  Stee Waugh
885 DDHOS 8D - 20116 208 Bty 555 DSHT?
(A) 85 oead /ﬁ; 28 BERS (C) end3eS (D) {aoe
 EYSof LSS L2011 0
J2 D) eoe © Sl @ dudS W

167) Suresh Tendulkar Committee 1s related to

(A) Poverty (BB) Tax reform (C) Lnvironment (D) Agriculturc
K038 Bodneb 5206 308 Howoonos ?

(A) orogo (B) Ddge dodpne (C) Dorcnsin (D) @@ ;oo

D e FOE S,
e ®) =/ (N
=#1,5" (D) Vsl (©
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168) The winner of Wimbledon 2011 Women's singles title is
(A) Sharapova (B) Serena Williams
(C) Venus Williams (D) Petra Kvitova

DoROOS - 2011, AR ?acﬁgaées SO 7

(A) SB5sam (B) 23ar 20D,
£C) DD DDy (D) aep saé.sﬁara
P& L L F 201 A4
St 7 (B) byl 7 (A)
utijs (D) S ©
169) Who is the present Chairman of ‘ISRO’?

(A) K.Radha Krishnan (B) Kasturi Rangan

(C) Madhavan Nair (D) None of these

BT DB DU, DB 7

AA) 8 reregS | (B) sxme 6055

(C) 5neSS ons (D) ot st

¢ el gozr L "ISRO"
S 15,5 (B) s . W

S ety ) Stk (©)

170) World’s highest railway bridge in coming up on which river of Jammu & Kashmir?
(A) Jhelum (B) Chenab (C) Indua (D) Beas

DDOWBOS Bep dBOD JF; B BBy, HO0H SE5H B 5O VY,0HDEE ?

(A) deoo (B) o5& (C) =otose (D) &%

?gf-._pﬂh,:diu/uﬁ/fyuﬁ&,cgfdfﬂgu,.ffl,.is i
GED) s © < B @
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171) The instrument which measures velocity of the wind.
(A) Hygrometer (B) Cryscograph (C) Barometer (D)Anemometer

78 Smg 53 Hosto o7

AA) p5ttons  (B) 89m5 () wOiopd (D) eRanbows
'i'c,‘_l.-—cji/JT!lI:LxdﬁliﬁJngJUJL{m

XEl D) Kia © JSLS @) #i By @)

172) Which is the most density populated district in Andhra Pradesh?
(A) East Godavari (B) Hyderabad (C) RangaReddy (D)Visakhapatnam

BOFHAT oL adD0EEte Bep HOT
(A) 8y 600 (BY prsorend  (C) Sorndd (D) Dagoio
te L AT LR g1 p i Tl
AU @ il © ol o ® dafdS W

173) What is the length of coastal line in Andhra Pradesh?
BOFHBISS BE 0B SBH 0B 7

?QL?’JPJJJJHG#/L(UHJ{’/‘TWEJ -

(A) 927 km (B) 942km  (£y 972 km (D) 955km

174) Horsley Hills are located in which district of Andhra Pradesh?
(A) Visakhapatnam (B) Adilabad (C) Khammam (D) Chittur

BOGHETED & eepd’ 55D dnd) BoH)?
(A) owgdio (B) soerent (C) o (D) o8»rtH

?UE'CTUU’:CL/)L/Lﬁ:{lfifwgg*'ﬂmlcﬁ{ills" =
% (D) / (C) sk (B) f:hrl.h (A)
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175) Which of the following is the first hydro electric power generation station in Andhra
Pradesh?

(A) Srccsailam (B3) Nagarjuna Sagar (C) Machkund (D) Nonc of these
BOGHASH Hoatn SoHodS DnokBnie 30DS dms Sogo D8 ?
yp() &3e0 (B) mooetsyis w6 (C) s»SpoE (D) 6=
WU FE U1 20T i e o SR g1 p AT b
Sfedw © £ © Al @ Fs, W

176) India’s first Sponge Iron Plant was established at
(A) Kothagudem (B) Visakhapatnam (C) Bhopal (D) Kolkata

AP GB ) BkyBoocses Do U RotS D8 St Savason?
(A) &stndo @) owgoge  (C) s (D) Sose
WU AU b TE g e
A ©  JiA © e ®) eil=f W

177) Which article of constitution decals with President’s rule?

BRES 0oan0r08° O BR5S CAHHE e (HOOD SPRONT

Ce bbbt ared L e
(A) 372 (B) 356 (C) 368 (D) 370

178) Which among the following was added in the prcamble to the Indian Constitution
through 42" constitutional amendment?

(A) Socialist Secular  (B) Democratic (C) Sovereign (D) Republic
4235 0PERO1S DB TR0 GBS TERLOL DOED BoDDAHO HDT

(A) s 5988 (B) gendegos  (C) doged (D) oogh

WYLl Teod Lt L € 3E Ty saad s
k(D) AP © Sk B JEeEr
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179) Who among the following are not appointed by the president?
(A) Governors of the state
(B) Chiefs of three forces
(C) Election Commissioners

(D) Ambasadors of other countrics in ourcountry

808 arod DHOD CHHS DADHOS S ?

(A) m@dégSm
(B) 806 o
KO oRBo 88X
(D) 2ps583508° HO S:% HAS cvadenthen
S U 2esans TS L
oWs 39 (B) Uil el (A)
Ll 5L e 9 (D) J,‘«”’c??l (©)

180) The Chairman of Zilla Parishat is clected

(A) Directly by the voters

(B) By the clected members of Zilla Parishat
(C) By presidents of Mandal Parishats

(D) By the sarpanches in the District

eep DOUS BE,MD DD DBYE LR T
(A) g (985995 o)

(B) sen 90088 Q0bBS 0600

(C) svode HO08 agEHen

(D) eepe g ogoSen

?;:-_bfu;’l_:,ﬁ-"lfz#d:ﬁ{éb

Ule.:;;i:;f{da (B) Wl Lé_liarts  (A)
&4 D parlBylir  (©
47
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181) Who introduced collector post in our country?

(A) Lord William Bentinck (B) Lord Warren Hastings
(C) Lord Karjan (D) Lord Ripon
0% 3F0H® EBYE HEDD HIFHD DHHT
(A) =08 dDabo Boeds £B) &b o3& dnQHoly
(C) enb 84S (D) enb 05
s S Sk L
Sy asssl (B) Ll ()
eEuba (D) K (O)

182) Indian president who served for the shortest period as president is

(A) Zakir Hussain (B) Sarvepalli Radha Krishnan
(C) Gnani Zail Singh (D) Fakhruddi Ali Ahmed
08 55,5 00 DEDSF i OB NSO 7
AN) 8B ey (B). 88 ooongis
(©) ab g5t (D) 9598 eb eind
@ il WAL s S St s sar
2 Sesd sy, ® ol W
2EgNF O FUidy  (©
183) Which Chiefl Minister of Andhra Pradesh served for the longest period as Chiel
Minister?
(A) Kasu Brahmananda Reddy (B) N.T.Rama Rao
(C) Jalagam Vengal Rao (D) Nara Chandrababu Naidu
OB D 00 DEDS 6 BOEHAS HNPHOB DHEH?
(A) s paB0508 (B) o8& coiinoes)
(C) aedo Jotstoes) (D) oo Sogerad RODHIE
turof Pl lels Foad LT piT el
;uu,_f}ul_.,_rr (B) . JiaLaszry (A)
sAEEA 2L (D) iJ;J‘*—s(ﬂf ()
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184) [low many Mandals are there in the state of Andhra Pradesh?
BOFHATS® & B0 dotienen O T
| s e L F g piTet
(A) 1104 (B) 1100 (C) 1108 (D) 1105

185) When was the first Five year plan started?

eSS HoWEE, HeBY BoPoBDED HoSBGO?
WU, A Iy

(A) 1949 (B). 1950 ,QC{ 1951 (D) 1952

186) In which of the following years was the Indian rupee devalued for the first time?
R0 DesSio BEBPOMm B HoSEE0SS BRoTH?

TS I L e 05 00

(A) 1950 (B) 1952 (C) 1948 (D) 1949

187) AGMARK is a guarantee of standards of
(A) Quality (B) Quantity (C) Packaging (D) Noneofthese
*AGMARK’ o6 808 S at?
AA) e (B) Hosnesn (C) »Be08 (D) 56 =t
tetebd L8 S =t AGMARK
Fifleor o HE © s# ® ¢ @

188) India carns maximum foreign exchange by the export of
(A) lron (B) Tea (C) Jute (D) Sugar

REBE 508 08,08 DBE SREEES.0 DI NDIHS BODEO W0 VDN ?

(A) aosio (B) & . (C) asdaes (D) sowees
Ce bWl sinticntig 5L 21§ b sk
G o ez © &k ® wTo®
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189) The largest revenue source to Indian government is

(A) Railways (I3) Sales Tax (C) LExcise duty (1) Income Tax
OB HahEe DS BB.LS SRR and S5O HO?
(A) oo (B) emgody  (C) 28Fungd (D) adssems

Ce by f N iitse rber PSS

J?f- (D) 371 (C) qu'“ (B) %, (A)

190) "Rajeev Grubakalpa® programme was started in which year?
0ol rEresse) HESO D RusEsus® Dbodosndon?
] i F T2
WYL SIS e s S

(A) 2005 (B) 2000 (C) 2007 (D) 2008

191) What is the objective of the scheme “Abhaya [lastam™?
(A} Lesser rate ol mterest loans for women
(13)  Un ecmployment cradication
(') Insurance to agricultural Labour
(D) Pension 1o oldage people
@D 00 Do m&@c: DO0e37?
(A) Sodeto 855 5585 dmen
(B) &5 vvRes
(C) S@RdeaD Enderd P
fﬂ'{} RO HOB
fe L akis g Ib"(:a I" Abhaya Hastam " -
A€ .60 a (B) J;fcf'l:i{Jrﬁ;;ff (A)
Bty SEpss ©
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192) In which language Buddha made his preachings?

(A) Prakrut (B) Pali (C) Sanskrit (D) Brahmi
m:rdgt:b&e,ﬂw e Poedo?
(A) Segpso (B) 0 (C) ®owyso (D) eple,

¢ s Llubliguf e G I bs

g0 <& © e =S @

193) Who ruled ‘Madhurai’ as capital of their kingdom?

(A) Pandyas (B) Cholas (C) Pallavas (D) Rashtrakutas
S0tHg0 craredm RDODR a0 T
(A) domen  (B) S (C) DeHeo (D) ocegEntne

S e P ybins
JeA 2L D) uid  (© vtz (B) UL (A

194) When Vasco Da Gama reach India?
TRBRE? GREBLTOS D DoBESoS® Hawad>?

?%JPJ(UPJHLEU}PD
(A) 1398 (B) 1492 (O 1498 (D) 1543
195) Who built Red Fort in Delhi?
(A) Akbar (B) Shershah (C) Jahangir (D) Shah Jahan
GO HEE5 R DROVN TROBDT
(A) b (B) &bap (C) expobiB (D) apenisss
oS E S It

Uil @) Az © L2 ® AW
196) Who was Mohammad Ghajini’s official poet?

(A) Firdoust (B) Ziauddin (C) Abiddin (D) Firoj shah

Boin,5 ad oS 5 OSW?

(A) BoD (B) som»adS (C) o288 (D) 265 ap
Tl u}ff PIVY !’L}fj

g D) ik © oA B ¢/ @A)
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197) Who introduced Munasib System?

(A) Jahangir (B) Babur (C) Akbar (D) Shah Jahan

BS0STS DEFBD HIF oL BT

(A) axrohS (B) enab (C) eogb (D) Epasns
W S GBS e

gt @ A1 © A ® Ao @

198) Who founded Brahmo Samaj?

(A) Ramakrishna Paramahamsa (B) Raja Ram Mohan Roy
(C) Devendranath Tagore (D) Swami Vivekananda
a0, ViR RBHODIBSD?
(A) oraogE) HEE0OD ((g) D2 CROAIERM 020D
(C) BBogmes oosmb (D) 80 Ddois0ss
e QLKL s
Lfiy sl (B) LAl Sl (A)
14§l (D) ul_:‘it;gg; (o]

199) Who introduced postal, telephone and railway dcpan:menis in India?
(A) Bentinck (B) Lawrence (C) Carnarvon (D) Dalhousic

% 3H0° B0, Bivew, Joo TP HF DD TROHH ?
(A) Bosob  (B) eo§ (€) 5% AD)se
E‘l_.ufJ.:lp‘:'.Lu/ﬂ_x.';zfulu;‘lf‘dt'{uﬂwl?'ﬁ
idi @ Ay © S @ L@

200) Who wrote Panchatantra?
(A) Kalidas (B) Vishnu Sharma (C) Bhavabhuti (D) Harisen

"DoTB0BHN” D DB BDODDT
(A) =80 ('B)/azg—a'g“ (C) e (D) m_
o~ LIFE
o Ss (D) dAuk (© SR B) ubdf (A
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